
1)
Find the next three numbers in 
the sequence
3,0,0,-3,-3,-6,-6__,__,__

Answer: ____________

2) (-5908) + 4961

Answer: ____________

3) 64.4 x 90.1

Answer: ____________

4) 8691.1 - 1813

Answer: ____________

5) Find area of 
rectangle having 
sides a = 4479 cm 
and b = 2638 cm

Answer: ____________

6) Solve by factorising 
x2 + 10x + 16 = 0

Answer: ____________

7) Write 1 x 10-1 as a normal number.

Answer: ____________

8) Convert the following fraction into a 
mixed number: 54/30

Answer: ____________

9) Convert the following fraction into a 
mixed number: 54/30

Answer: ____________

10) 8869 - 8317

Answer: ____________

11) Solve by factorising 
q2 - 10q + 16 = 0

Answer: ____________

12) Solve by factorising 
q2 - 10q + 16 = 0

Answer: ____________

13) Convert the following improper 
fraction 1812/15 + 85/6 into a mixed 
number

Answer: ____________

14) Find the mean of the following set of data:

74, 0.3, 0.7, 0.3, 0.9, 85, 16, 69

Answer: ____________

15) Find perimeter of 
square having each 
side (s) equals 7536 ft

Answer: ____________
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16) 2200 ÷ 100

Answer: ____________

17) 2200 ÷ 100

Answer: ____________

18)

Name the type of angle.

Answer: ____________

19) 5980.5 - 5304.4

Answer: ____________

20) Decrease 120 by 1/24

Answer: ____________

21) 91% of 481

Answer: ____________

22) 46 x 10

Answer: ____________

23) 323/10 ÷ 2117/18

Answer: ____________

24) Find the range of the following set of data:

3, 0.8, 13, -0.4, -13, -20, 7, -5, 17, 
12, 13

Answer: ____________

25) (10 x 2-2) x (1 x 67)

Answer: ____________

26) 38660.7 ÷ 431

Answer: ____________

27) 18/2 - 13/10

Answer: ____________

28) Find the range of the following set of data:

16, 10, 7, 0.6, 3, -7, 0.7

Answer: ____________

29) 3694 x 5859

Answer: ____________

30) Factorise 7x2 + 58x + 16

Answer: ____________
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31) 10/17 x 30/17

Answer: ____________

32) 31/1 + 12/18

Answer: ____________

33) Solve by factorising 
s2 + 6s + 5 = 0

Answer: ____________

34) s17 * s-17

Answer: ____________

35) 53/19 x 3712/16

Answer: ____________

36) Share 94 in the ratio 60:34

Answer: ____________

37) Share 94 in the ratio 60:34

Answer: ____________

38) 5059 + 6751

Answer: ____________

39) 1417/18 ÷ 1011/17

Answer: ____________

40) Find perimeter of 
rectangle having 
sides a = 6221 m 
and b = 1295 m

Answer: ____________

41) A number is chosen at random from 
1 to 75. Find the probability of 
selecting even number.

Answer: ____________

42) Find the percentage change from 150 
to 444

Answer: ____________

43) Find the percentage change from 150 
to 444

Answer: ____________

44) Share 73 in the ratio 28:45

Answer: ____________

45) Increase 15 by 1/3

Answer: ____________
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46) Find the mode of the following set of data:

161, 161, 161, 161, 161, 164, 164, 
164, 164, 113, 113, 113, 113, 113, 
113, 113, 82, 82, 82, 82

Answer: ____________

47) 21/5 + 13/12

Answer: ____________

48) Find the mode of the following set of data:

181, 181, 181, 181, 91, 91, 91, 100, 
100, 100, 100

Answer: ____________

49) Find area of square 
having each side (s)
equals 9305 in

Answer: ____________

50) Increase 118 by 4/59

Answer: ____________

51) Share 96 in the ratio 44:52

Answer: ____________

52) Share 96 in the ratio 44:52

Answer: ____________

53) Share 96 in the ratio 44:52

Answer: ____________

54) (-9966) + 4617

Answer: ____________

55) Find the mean of the following set of data:

0.7, 88, 80, 77, 0.2, 15, 0.4, 84

Answer: ____________

56) Find area of 
rectangle having 
sides a = 9975 ft 
and b = 8617 ft

Answer: ____________

57)

'Name the type of angle.

Answer: ____________

58) Find perimeter of 
triangle
h = 9559 , a = 9930 
in,
b = 9960 in, c = 
9985in

Answer: ____________

59) Find the median of the following set of data:

7, 6, 17, 11, 34, 31, 20, 9, 34, 17, 
33, 15, 4, 28, 32, 13, 9, 20, 28, 16

Answer: ____________

60) Factorise 7f2 + 18f + 11

Answer: ____________
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61) 55/19 x 37/19

Answer: ____________

62) Find perimeter of 
square having each 
side (s) equals 9131 in

Answer: ____________

63) Find perimeter of 
square having each 
side (s) equals 9131 in

Answer: ____________

64) 3/17 of 68

Answer: ____________

65) 14 - 1 + (42 - 19)

Answer: ____________

66) 14 - 1 + (42 - 19)

Answer: ____________

67) Convert the following improper 
fraction 2710/16 + 74/5 into a mixed 
number

Answer: ____________

68) Round 19.771490530617496 to 12 
significant figures.

Answer: ____________

69) Round 18.550187761792466 to 6 
decimal places.

Answer: ____________

70) Find perimeter of 
triangle
a = 6236 in , b = 
7882 in

Answer: ____________

71) Round 25.153247317211 to the 
nearest whole number.

Answer: ____________

72) What would you multiply by to 
increase an amount by 4%?

Answer: ____________

73) Share 100 in the ratio 75:25

Answer: ____________

74) 3892 x 9901

Answer: ____________

75) 3892 x 9901

Answer: ____________
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76) 5259 - 4024

Answer: ____________

77) 9987 - 4914

Answer: ____________

78) 37/18 - 2/19

Answer: ____________

79) Convert the following improper 
fraction 3612/20 + 206/7 into a mixed 
number

Answer: ____________

80)
Find the next three numbers in 
the sequence
0,1,1,2,3,5,8__,__,__

Answer: ____________

81) An amount was increased by 3% to 
$160.69. Find the original amount.

Answer: ____________

82) Share 79 in the ratio 68:11

Answer: ____________

83) Share 72 in the ratio 66:6

Answer: ____________

84) (5-1)-17

Answer: ____________

85)
35  Find Volume of 
               33       Cylinder 

Answer: ____________

86) b

a o c
Measure angle boa 

Answer: ____________

87) 39/20 + 1/15

Answer: ____________

88) Find perimeter of 
triangle s = 9500 in

Answer: ____________

89) Find the range of the following set of data:

0.5, -8, -13, 5, 18, 0.9, 17, 16

Answer: ____________

90) Find the range of the following set of data:

0.5, -8, -13, 5, 18, 0.9, 17, 16

Answer: ____________
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91) (4 x 1-4) - (9 x 9-1)

Answer: ____________

92) Increase 284 by 5/142

Answer: ____________

93) 8557 x 1319

Answer: ____________

94) Find the value of 'q' by completing 
the square of the following equation: 
2 + 6q + 9

Answer: ____________

95) Decrease 471 by 76%

Answer: ____________

96) Find perimeter of 
rectangle having 
sides a = 9632 m 
and b = 3978 m

Answer: ____________

97) 1460 + 4053

Answer: ____________

98) Write 5 x 109 as a normal number.

Answer: ____________

99) Find the mode of the following set of data:

141, 141, 97, 97, 97, 45, 45, 157, 
157, 44, 44, 44, 12, 12, 12, 12, 12, 
12

Answer: ____________

100) (-1430) ÷ 26

Answer: ____________

Total: ___ / 100
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Answers:

1) -9,-9,-12, 2) -947 3) 5802.44 4) 6878.1 5) 11815602cm 6) x = -2 or -8 7) 0.1

8) 14/5 9) 14/5 10) 552 11) q = 8 or 2 12) q = 8 or 2 13) 2719/30 14) 30.78

15) 30144ft 16) 22 17) 22 18) Acute 19) 676.1 20) 115 21) 437.71

22) 460 23) 1932/1975 24) 37 25) 699840 26) 89.7 27) 77/10 28) 23

29) 21643146 30) (1x + 8)(x + 2) 31) 111/289 32) 312/3 33) s = -1 or -5 34) s0 35) 19427/38

36) 1 : 93 37) 1 : 93 38) 11810 39) 11315/3258 40) 15032m 41) 37/75 42) 196%

43) 196% 44) 1 : 72 45) 20 46) 113 47) 517/60 48) 181 49) 86583025in

50) 126 51) 1 : 95 52) 1 : 95 53) 1 : 95 54) -5349 55) 43.16 56) 85954575ft

57) Obtuse 58) 29875in 59) 25 60) (7f + 11)(f + 1) 61) 17263/361 62) 36524in 63) 36524in

64) 12 65) 10 66) 10 67) 3517/40 68) 19.7714905306 69) 18.550188 70) 22000in

71) 25 72) 1.04 73) 1 : 99 74) 38534692 75) 38534692 76) 1235 77) 5073

78) 1325/342 79) 5716/35 80) 13,21,34, 81) $156.01 82) 1 : 78 83) 1 : 71 84) 517

85) 29935.450997894 86) 144 87) 21/60 88) 28500in 89) 31 90) 31 91) 3

92) 294 93) 11286683 94) (q + 3)2 95) 113.04 96) 27220m 97) 5513 98) 5000000000

99) 12 100) -55
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